Honors Geometry
Review — Two Column Proofs

1. Given: 44+2(3x+5)=11-x
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2. Given: 3x” —2x—4 =2x(x—1)+12
x<0
Prove: x = —4
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3. Given: <BAC is a right angle. <2 = <3.
Prove: <1 and <3 are complementary.
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4. Given: BX bisects < ABC . m < XBC =45 R

Prove: < ABC is a right angle.
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Prove: AD = CD
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6. Given: M is the midpoint of AB
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Prove: AM = EAB
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7.Given:3x — 4 = %(x +12)

Prove:x = 4
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8. Given: Figure at the right...

Prove:x =9
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9. Given: 2x2 — 3x — 16 = —x? — (3x + x2)

x<0
Prove:x = =2
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10. Given: AD = 2AB + BC
Prove: AB = CD
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11.Given: < 1 and < 2 form a linear pair.
m<2+m<3+ m<4=180°
Provem<l=m<3 + m<4
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12. Given: < AEC =< DEB
Prove: < AEB =< DEC
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